

9299 W Olive Ave #503 Peoria, AZ 85345 (623) 473-9011 | ROC KA-334820 sales@copperstatepavement.com www.copperstatepavement.com

PRICING AND SPECS IN ACCORDANCE TO 1GPA CONTRACT #22-15P-02

To: Amphitheater Public Schools Kevin Chester 5208507667 kchester@amphi.com **Project:** Cross MS 1000 W Chapala Dr Tucson, AZ 85704 **ESTIMATE** 22617-JM-Cross MS **DATE** 1/17/2023

REP John McCormack
MOBILE # (602)341-9881

EMAIL jmccormack@copperstatepavement.cc

ADJACENT WAYS						
Item No.	Description	Quantity	Unit	Unit Price	Total	
Asphaltic Conc	crete Paving and Overlay					
22	Mobilization Charge	1	Flat Fee	\$953.06	\$	953.06
26	3" Depth	8640	SQFT	\$1.95	\$	16,848.00
Asphalt Milling	g					
30	Mobilization	1	Flat Fee	\$953.06	\$	953.06
31	Asphalt Milling Per Inch Deep	4930	SQYD	\$0.22	\$	1,084.60
Asphalt Sawcu	itting					
36	Mobilization	1	Flat Fee	\$47.96	\$	47.96
37	Per Inch of Thickness	2000	LF	\$0.20	\$	400.00
Hot Rubber Cr	ack Seal					
42	Mobilization	1	Flat Fee	\$389.62	\$	389.62
43	Hot Rubber Crack Seal	1799	LB	\$1.51	\$	2,716.49
Microseal Type	e II Slurry Seal					
70	Mobilization	1	Flat Fee	\$4,195.86	\$	4,195.86
71	Microseal Type II Slurry Seal	4047	SQYD	\$2.88	\$	11,655.36
Excavation, De	emo/Haul Asphalt, Dirt, Etc.					
84	Mobilization	1	Flat Fee	\$419.59	\$	419.59
85	Non-Concrete	595	Cubic	\$31.17	\$	18,546.15
D			Yard			
Dump Fees	To a control of the c					0.045.70
88	Non-Concrete	296	Cubic Yard	\$6.81	\$	2,015.76
Grade Area						
93	Mobilization	1	Flat Fee	\$599.41	\$	599.41
94	Grade Area	1769	SQYD	\$1.26	\$	2,228.94
Striping and Sa	afety	<u> </u>			•	
134	Mobilization - Acrylic Striping	1	Flat Fee	\$90.00	\$	90.00
140	New Layout: Acrylic 4" Wide	405	LF	\$0.23	\$	93.15
152	Curb (Top and Face), Red	776	LF	\$0.37	\$	287.12
157	4-6" Numbers/Letters	170	Each	\$0.63	\$	107.10
176	Ceramic Reflector - Installed	15	Each	\$5.50	\$	82.50

241	Asphalt Cleaning/Prep	39980	SQFT	\$0.25	\$ 9,995.00
242	Traffic Control	3	Per Day	\$50.00	\$ 150.00
243	Sweeping	12	Per Hour	\$125.00	\$ 1,500.00

SUBTOTAL: \$ 75,358.73

Regional Price Adjustment: 10.00% \$ 7,535.87

_Date:_____

South Region- Pinal, Pima, Cochise & Santa Cruz

TOTAL: \$ 82,894.60

Notes:

4

es:	
1	A 72 hour cancellation or rescheduling notice must be given to Copper State Pavement once a project is scheduled. If a project is cancelled or rescheduled within the 72 hour window (weather issues not included), mobilization/demobilization fees may be applied.
2	
3	

Accepted By:

Standard Inclusions and Exclusions

We hereby propose to furnish and install all labor, materials, and equipment for the following work on the attached project proposal. Please see the
Notes: 2
Indemnification
At Copper State Pavement, Inc., we thank you for the opportunity to provide you this proposal, if you have any questions about this proposal please
Accepted By:Date:
22617-JM- Proposal #: Cross MS



9299 W Olive Ave #503 Peoria, AZ 85345 (623) 473-9011 | ROC KA-334820 sales@copperstatepavement.com www.copperstatepavement.com

PRICING AND SPECS IN ACCORDANCE TO 1GPA CONTRACT #22-15P-02

To: Amphitheater Public Schools Kevin Chester 5208507667 kchester@amphi.com **Project:** Cross MS 1000 W Chapala Dr Tucson, AZ 85704 **ESTIMATE** 22617-JM-Cross MS **DATE** 1/17/2023

REP John McCormack
MOBILE # (602)341-9881

EMAIL jmccormack@copperstatepavement.cc

EMAIL jmccormack@copperstatepavement.co NON ADJACENT WAYS					
Item No.	Description	Quantity	Unit	Unit Price	Total
Asphaltic Concr	rete Paving and Overlay				
22	Mobilization Charge	0	Flat Fee	\$953.06	0.00
26	3" Depth	22115	SQFT	\$1.95	43124.25
Asphalt Milling					
30	Mobilization	0	Flat Fee	\$953.06	0.00
31	Asphalt Milling Per Inch Deep	10670	SQYD	\$0.22	2347.40
Asphalt Sawcut	ting		l l		
36	Mobilization	0	Flat Fee	\$47.96	0.00
37	Per Inch of Thickness	1000	LF	\$0.20	200.00
lot Rubber Cra	ack Seal				
42	Mobilization	0	Flat Fee	\$389.62	0.00
43	Hot Rubber Crack Seal	701	LB	\$1.51	1058.51
Microseal Type	II Slurry Seal				
70	Mobilization	0	Flat Fee	\$4,195.86	0.00
71	Microseal Type II Slurry Seal	1572	SQYD	\$2.88	4527.36
xcavation, Der	mo/Haul Asphalt, Dirt, Etc.				
84	Mobilization	0	Flat Fee	\$419.59	0.00
85	Non-Concrete	330	Cubic	\$31.17	10286.10
			Yard		
86	Concrete	3	Cubic Yard	\$31.17	93.51
Dump Fees			Taru		
88	Non-Concrete	629	Cubic	\$6.81	4283.49
			Yard		
89	Concrete	3	Cubic Yard	\$10.56	31.68
lace and Comp	pact Fill or ABC/GSA Materials		Tara		
91	Mobilization		Flat Fee	\$419.59	
92	Per Inch of Thickness		SQFT	\$0.09	
Grade Area					
93	Mobilization	0	Flat Fee	\$599.41	0.00
94	Grade Area	4231	SQYD	\$1.26	5331.06
triping and Sa	fety				
134	Mobilization - Acrylic Striping	0	Flat Fee	\$90.00	0.00
140	New Layout: Acrylic 4" Wide	1595	LF	\$0.23	366.85
152	Curb (Top and Face), Red	224	LF	\$0.37	82.88
157	4-6" Numbers/Letters	34	Each	\$0.63	21.42
171	Signage with 2" Round Post or U-Channel in Concrete	1	Each	\$225.00	225.00
174	Handicapped Sign and Post, Single Sided	2	Each	\$205.00	410.00
176	Ceramic Reflector - Installed	0	Each	\$5.50	0.00

Concrete Flat	work				
203	Mobilization	1	Flat Fee	\$850.00	850.00
207	6" Thick per SQFT - 1 to 500 SQFT	180	SQFT	\$7.55	1359.00
Precast Safety	y Curbs		•		
230	Mobilization	1	Flat Fee	\$90.00	90.00
231	Remove and Stockpile Existing Curbs	56	Each	\$20.00	1120.00
232	Repin Existing Curbs	56	Each	\$20.00	1120.00
233	New 6' Curbs, 1 to 20 per each	5	Each	\$55.00	275.00
Construction	Survey				
240	Non-Registered Surveyor, 2 Men and Equipment	0	Per Hour	\$185.00	
241	Asphalt Cleaning/Prep	156	SQFT	\$0.25	39.00
242	Traffic Control	3	Per Day	\$50.00	150.00
243	Sweeping	12	Per Hour	\$125.00	1500.00

SUBTOTAL: \$78,892.51

Regional Price Adjustment: 10.00% \$7,889.25

South Region-Pinal, Pima, Cochise & Santa Cruz

TOTAL: \$86,781.76

Notes:

A 72 hour cancellation or rescheduling notice must be given to Copper State Pavement once a project is scheduled. If a project is cancelled or rescheduled within the 72 hour window (weather issues not included), mobilization/demobilization fees may be applied.

	Accepted By:	Date:
4		
3		
2		

Standard Inclusions and Exclusions

We hereby propose to furnish and install all labor, materials, and equipment for the following work on the attached project proposal. Please see the
Notes: 2
Indemnification
At Copper State Pavement, Inc., we thank you for the opportunity to provide you this proposal, if you have any questions about this proposal please
Accepted By:Date:
22617-JM- Proposal #: Cross MS